
General Section for all Positions (Chairman, Secretary, Controller 

of Examination and Audit Officer) 

 

English MCQs 
 
No. of Questions: 20 (from 1 to 20)   1 Mark Each                                                                               Negative Markings: No 

 

Read the passage below and answer the questions that follow: 

Now is the winter of our discontent 

Made glorious summer by this sun of York; 

And all the clouds that lour'd upon our house 

In the deep bosom of the ocean buried. 

Now are our brows bound with victorious wreaths; 

Our bruised arms hung up for monuments; 

Our stern alarums changed to merry meetings, 

Our dreadful marches to delightful measures. 

Grim-visaged war hath smooth'd his wrinkled front; 

And now, instead of mounting barbed steeds 

To fright the souls of fearful adversaries, 

He capers nimbly in a lady's chamber 

To the lascivious pleasing of a lute. 

But I, that am not shaped for sportive tricks, 

Nor made to court an amorous looking-glass; 

I, that am rudely stamp'd, and want love's majesty 

To strut before a wanton ambling nymph; 

I, that am curtail'd of this fair proportion, 

Cheated of feature by dissembling nature, 

Deformed, unfinish'd, sent before my time 

Into this breathing world, scarce half made up, 

And that so lamely and unfashionable 

That dogs bark at me as I halt by them; 

Why, I, in this weak piping time of peace, 

Have no delight to pass away the time, 

Unless to spy my shadow in the sun 

And descant on mine own deformity: 

And therefore, since I cannot prove a lover, 

To entertain these fair well-spoken days, 

I am determined to prove a villain 

And hate the idle pleasures of these days. 

Plots have I laid, inductions dangerous, 

By drunken prophecies, libels and dreams, 

To set my brother Clarence and the king 

In deadly hate the one against the other: 

And if King Edward be as true and just 



As I am subtle, false and treacherous, 

This day should Clarence closely be mew'd up, 

About a prophecy, which says that 'G' 

Of Edward's heirs the murderer shall be. 

Dive, thoughts, down to my soul: here 

Clarence comes. 

 

1.  The term ‘winter’ at the commencement of the speech is used 

A) literally 

B) figuratively 

C) hyperbolically 

D) none of the above 

 

2.   Linguistically speaking, war is presented as 

A) a diagram 

B) a personification 

C) an illusion 

D) none of the above 

 

3. The best synonym for ‘lascivious’ is: 

A) lewd 

B) lecherous 

C) both a and b are correct 

D) neither a nor b is correct 

 

4. The tone of the speaker is one of 

A) self-loathing 

B) sanguinity 

C) bewilderment 

D) none of the above 

 

 

 

 

 



 

Quantitative and Analytical Skills MCQs 
 

No. of Questions: 20 (from 21 to 40)   1 Mark Each Negative Markings: No 

 

21. Two candles of the same height are lit at the same time. Each candle burns at a constant 

rate and the first candle takes 5 hours while the second candle take 4 hours to burn 

completely. What will be the time, in hours, taken for the height of the first candle to be 

four times that of the second candle. 

 

A) 3
3

4
  

B) 3
1

2
 

C) 3
1

4
 

D) 3 

 

22. Arish read 60 pages of a book on the first day. This was 20% more than the number of 

pages he read on the second day. Given that he read  
1

6
 of the book on the second day, what 

are the number of pages in the book? 

 

A) 240 

B) 300 

C) 360 

D) 420 

 

23. The average score of a student in 6 courses is 36. How much marks in each course will 

be scaled so that his average score becomes 60. 

 

A) 2 

B) 
5

2
 

C) 3 

D) 
5

3
 

 

24. Ali’s school started at 8am. Daily he left for school at a fixed time and reached school at 

7:45am if he travelled at a speed of 30 km/h. If he travelled at speed of 25 km/h, he reached 

at 7:59am. At what time will he reach school if he travels at the speed of 20 km/h? 

 

A. 7:50 am 

B. 7:40 am 

C. 8:10 am 

D. 8:20 am 



IT Skills MCQs 
 

No. of Questions: 10 (from 41 to 50)   1 Mark Each Negative Markings: No 
 

41.  In MS – Excel, “page break preview” is in 

 

A) Home Tab 

B) Insert Tab 

C) Data Tab 

D) View Tab 

 

42. Which shortcut key in MS – Word is used to paste text? 

 

A) Ctrl+ P 

B) Ctrl + C 

C) Ctrl + X 

D) Ctrl + V 

 

43. How can an organization following a data governance plan achieve data integrity and accuracy 

throughout the data lifecycle? 

 

A) By implementing proper data classification. 

B) By implementing data quality controls and validation processes. 

C) By establishing policies to protect privacy rights 

D) By streamlining data management processes 

 

 

44.  What is a shortcut key to print a document? 

A) Ctrl + print 

B) Ctrl + PrtSc  
C) Ctrl + AltGr 

D) Ctrl + P 

 
 

 

 

 

 

 

 



Management Section for Chairman & Secretary 

 

Management MCQs 
 

No. of Questions: 30 (from 51 to 80)   1 Mark Each Negative Markings: No 

 

 
51. Which of the following best describes transformational leadership? 

 

A) Focusing on maintaining stability and implementing rules 

B) Inspiring and motivating employees to exceed their own self-interests for the good of the 

organization. 

C) Relying primarily on rewards and punishments to influence employee behavior. 

D) Adopting a hands-off approach, allowing employees to manage themselves. 

 

 

52. What is the main characteristic that differentiates a high-performing team from a regular 

group? 

 

A) Shared accountability and a strong commitment to common goals 

B) Individual achievements prioritized over team success. 

C) Members working on unrelated tasks independently. 

D) Informal interactions without set objectives. 

 

 

53. What is the primary purpose of strategic planning in an organization? 

 

A) Creating day-to-day operational schedules 

B) Developing a vision and long-term objectives to achieve a competitive advantage. 

C) Focusing on employee work assignments 

D) Managing current cash flow 

 

 

54. Which type of compensation is provided based on the performance and achievements of an 

employee? 

 

A) Base pay 

B) Overtime pay 

C) Performance-based pay 

D) Benefits package 

 

 

 

 



Management Section for Controller of Examinations 

 

Management MCQs 
 

No. of Questions: 50 (from 51 to 100)   1 Mark Each Negative Markings: No 

 

51. Which of the following best describes transformational leadership? 

 

A) Focusing on maintaining stability and implementing rules 

B) Inspiring and motivating employees to exceed their own self-interests for the good of the 

organization. 

C) Relying primarily on rewards and punishments to influence employee behavior. 

D) Adopting a hands-off approach, allowing employees to manage themselves. 

 

 

52. What is the main characteristic that differentiates a high-performing team from a regular 

group? 

 

A) Shared accountability and a strong commitment to common goals 

B) Individual achievements prioritized over team success. 

C) Members working on unrelated tasks independently. 

D) Informal interactions without set objectives. 

 

 

53. What is the primary purpose of strategic planning in an organization? 

 

A) Creating day-to-day operational schedules. 

B) Developing a vision and long-term objectives to achieve a competitive advantage. 

C) Focusing on employee work assignments. 

D) Managing current cash flow. 

 

 

54. Which type of compensation is provided based on the performance and achievements of an 

employee? 

 

A) Base pay 

B) Overtime pay 

C) Performance-based pay 

D) Benefits package 
 

 

 



General Knowledge about Education Sector for Chairman & 

Secretary 

 

 

General Knowledge about Education Sector MCQs 
 

No. of Questions: 20 (from 81 to 100)   1 Mark Each Negative Markings: No 

 
 

81. The commitment of government to deliver social services especially in education (SDG-4) 

has often been challenged and deterred by: 

 

A) hefty debt paybacks, national defense and security issues 

B) Social welfare benefits 

C) Natural disasters and floods 

D) Political and economic instability 

 

82. At national level, ‘____________________’ is the most populous section of the education 

sector. 

 

A) Higher Secondary Education 

B) Pre-Primary and Secondary Education 

C) Higher Education 

D) Technical and Vocational Education 

 

83. _______________, which aims to achieve gender equality and empower all women and 

girls, is intrinsically linked to girls' education. 

A) SDG 1 

B) SDG 3 

C) SDG 4 

D) SDG 5 

 

84. In Pakistan, roughly what would be the effective transition rate (ETR – percentage of 

students that progress from one education level to the next one) from primary to middle: 

 

A) 50% 

B) 65% 

C) 83% 

D) 91% 



Accounting/Finance/Auditing for Audit Officer 

 
 

 

Accounting/Finance/Auditing MCQs 

 
No. of Questions: 50 (from 51 to 100)   1 Mark Each Negative Markings: No 

 

 

51. Which of the following transactions is not considered a business transaction?   

   

A) Purchasing goods from supplier.      

B) Preparing a presentation for a prospective customer.      

C) Paying salary to an employee.      

D) Receiving payment from a customer for goods sold.      

 

52. As per _____________________ concept, expenses and losses shall not be understated, and 

revenues and profits shall not be overstated.   

A) Revenue recognition      

B) Accrual      

C) Economic Entity      

D) Prudence      

 

53. Who is responsible to prepare financial statements in a company?     

   

A) Shareholders       

B) Auditors       

C) Managers       

D) Directors       

 

54. The objective of a statutory audit is to provide    

A) limited assurance    

B) reasonable assurance    

C) absolute assurance    

D) moderate assurance         


